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Please check whether you have got the right question paper.

[ Marks:100]

N.B: 1. Question.No.1 and 2 are compulsory and carry 20 Marks and 16 Marks respectively.

2. Attempt any four questions from the rest, carrying 16 Marks each.

3. Working Notes should form part of your answer.

4. Proper presentation and neatness is essential.

5. Use of simple calculator is allowed.

Following is the Balance Sheet of Lalit Ltd. as on 31 March 2015: (20)
Liabilities Rs. Assets Rs.
Equity Share Capital (Rs. 100 each) 1,50,000 | Cash in Hand 5,500
8% Preference share Capital 1,50,000 | Cash at bank 15,500
8% Debentures 1,00,000 | Bills Receivable 35,000
6% Ban k Loan 50,000 | Long term investments 55,000
Bank Overdraft 20,000 | Stock 31,000
Creditors 50,000 | Other Current assets 38,000
Outstanding expenses 5,000 | Preliminary expenses 15,000
Proposed Dividend 10,000 | Fixed assets 5,65,000
(Current year)
Reserves 1,25,000
Provision for tax (Current year) 25,000
Profit & Loss account 75,000
7,60,000 7,60,000

Sales during the year were Rs. 10,00,000 (70% on credit ). No amount has been transferred to
reserves during the current year. Profit carried forward from the last year was Rs. 20,000.

Calculate the following ratios:
1. Current ratio
Quick ratio
Debt- equity ratio
NPAT ratio
Debtors turnover ratio
Proprietary ratio
Stock- working capital ratio
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Return on shareholders’ funds

Also give your general comments (Vertical form not required )

or None of these.
Delivery truck

Bills Payable
Depreciation
Equity Capital
Accounts Payable
Income tax Payable
Prepaid Insurance
Delivery Expenses
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Q.2 A. Classify the following if they are Fixed Assets, Current Assets, and Current Liabilities, Own Funds (8)
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Q.2 B. State whether the following statements are TRUE or FALSE (8)
1. All current assets are quick assets.

Payment of cash to creditors will improve current ratio.

When closing stock is overvalued Gross Profit ratio increases.

Contingent liabilities do not appear in Balance sheet.

Intra firm analysis involves analysis of performance of two different organizations.

The net present value of a project decreases as required of two different organizations.

Working capital can be permanent and temporary.

Dividend paid on shares is a part of financing activity.

N U A WN

Q.3 Sachin Ltd. has an installed capacity of 7,500 units per month. From the details given below (16)
calculate their working capital requirement.
Raw material — Rs. 8 per unit; Direct labour — Rs. 4 per unit; Overheads are 100% of Direct
Labour and Profit per unit is 20% of total cost. Raw Materials storage period is 2 months.

Processing time is 1/2 month. Finished goods in stores are for 3 months Credit allowed to
debtors is for 2 months. Credit by creditors is for 1/2 month. Lag in wage payment is 1 month.
Production and overheads accure evenly throughout the year.

Q.4 From the following information of Azhar Ltd., Prepare Vertical trend analysis statement and give (16)
your comments.
Particulars 315t Mar. 2012 315t Mar. 2013 315t Mar. 2014
Sales 6,00,000 8,00,000 12,00,000
Cost of sales 3,35,000 4,25,000 6,35,000
Office expenses 23,800 25,500 26,600
Administrative 24,100 28,200 28,900
Expenses
Distribution 42,100 48,900 52,100
Expenses
Selling Expenses 12,500 18,500 20,500
Finance Expenses 12,000 15,000 20,000
Interest on 1,000 2,000 3,000
Investments
Provision for tax 20% 25% 35%
Q.5 The following information is extracted from the financial statements of Virat Ltd. as on 315 (16)
Mar. 2014 & 2015.

Part'w'a: 315t Mar. 2014 31 Mar. 2015

Stock 1,00,000 1,25,000

Debtors 40,000 40,000

Bills Receivables 20,000 20,500

Advances given

(recoverable in cash) 2,000 o
Cash on hand 28,000 38,000
Creditors 45,000 35,000
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Bills Payable 5,000 10,000
Bank Overdraft 2,000 5,000
9% debentures 6,00,000 8,00,000
Sales 6,00,000 8,00,000
Gross Profit 2,00,000 2,50,000

You are required to compute the following ratios for both years and comment on each :

Liquid Ratio

HwnN e

Stock Turnover Ratio
Debtors Turnover Ratio
Stock - Working Capital Ratio

From the following Balance Sheets of Sehwag Ltd. prepare cash flow statement for the (16)
year 2016.
LIABILITIES 2015 2016 ASSETS 2015 2016
Equity Share Capital 3,00,000| 3,50,000 | Goodwill 27,500 22,500
8% Preference Shares 2,00,000| 1,50,000 /| Land & Building 1,50,000|1,25,00
General Reserve 10,000 20,000 Plant 2,70,500/3,20,15
Profit & Loss Al e 32,500 34,000 Debtors 34,100 39,400
Proposed Dividend 22,500 29,000 | Stock 35,900 | 30,450
Creditors 12,000 10,250 Bills Receivable 30,100| 30,100
Bills Payable 6,250 4,350 | Cash in Hand 20,000 30,000
Prov. For Taxation 30,000 25,000 | Cash at Bank 45,150 | 25,000
6,13,250| 6,22,600 6,13,2506,22,60
Additional information :
1. Depreciation of Rs. 25,000 and Rs. 39,250 have been charged on Land & Building
and Plant respectively in 2016.
2. Aninterim dividend of Rs. 9,000 has been paid in 2016.
3. Income tax Rs. 35,000 was paid during the year 2016.
Following are the details of two alternative proposals available to Zaheer Ltd. (16)
Particulars Proposal A | Proposal B | PV factor @ 10 %
Cost 95,000 1,50,000
Cash inflow (after tax before
depreciation)
Year 01 20,000 25,000 0.91
02 25,000 45,000 0.83
03 30,000 50,000 0.75
04 35,000 25,000 0.68
05 32,000 45,000 0.62
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06 28,000 50,000 0.56
Comment & select the best proposal on the following basis:
1. Payback Period
2. Net Present Value
3. Discounted Payback Period
4. Profitability Index
Complete the following comparative statement: (16)
Particular Amount (Rs.) Change
31.03.14 31.03.15 Rs. %
APPLICATION
OF FUNDS
1. Fixed Assets | 4,00,000 5,34,750 ?
2. Investments | 75,000 ? 100.00
3. Working
Capital
Current Assets
Closing stock ? 38,080 10,580 ?
Other Current 18,000 22,200 ? ?
assets
Debtors 36,750 ? 10,000 ?
Bills Receivable | 22,200 ? 1,100 ?
Cash / Bank 18,200 ? (900) ?
Advances Nil ? ?
(i)|? ? ? ?
Less: Current
Liabilities
Creditors 22,520 28,400 ?
Bills Payable 28,200 20,520 (7,680) ?
Advances 18,880 ? (8,300) ?
(ii) [ ? ? ? ?
Working 53,050 1,36,180 ? ?
Capital (i-ii)
TOTAL FUNDS | 5,28,050 8,20,930 2,92,880 55.46
Write Short notes on any 4: (16)
Funds from operations
Classification of Assets
Uses of Ratio Analysis
Working Capital Cycle
MIS Report
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